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SECTION I
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This section contains fourteen multiple choice questions carrying one mark
each. Select a correct option out of the given options and write the same in your
answer-book. Answer all the questions.

1. I8 Fuifa s for nfafafml st goneat < gaiaq ot 9 frg Jor tea
foren ST — sHR FEd B

(1) Tfea T

(@) fraee 3k ol o
(@) e

(3) e

Determining how best to group activities and resources is called
(a)  Organising

(b)  Planning and decision-making

(c) Controlling

(d) Leading

2. THIE TR R e & I WR & o YeH & 9 T @ $ad &
(1) T TalT yagS

(9) YRl Jagh
(@) wHaes
(8) HRAA

All levels of management between the supervisory level and the top level
of the organisation are termed as

(a)  Middle level managers
(b)  First-line managers
(c) Supervisors
(d)  Foremen
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TISTCHS A& I QU i o I AT 3TN A TG ! FH{<A i i
gfshaT sl FEd B

(3)
()
(®)
()

ERIEC]
ECHE!
SERE]
B[

c

Coordinating people and human resources to accomplish organisational

goals is the process of

(a)
(b)
(c)
(d)

Planning
Directing
Management

Leadership

fr=fafaga # @ w01 %o 9l 757 2 2

(%)
(%)
(®)
(

3)

Y& shell Ud o5 o1 181 3 |
TeY Teh UM B |

a4 Ueh HTATSh haT 8 |
Ja-Y Teh TaeaTdl Ufshan T B |

Which one of the following statements is not correct ?

(a)
(b)
(c)
(d)

Management is a mixture of art and science.
Management is a profession.
Management is a social activity.

Management is not a universal process.
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5.  hi9-H T 1 YoYU A0 H g9 SI1Q Hieed BN 2

(1)

(¥) wem

(|) wEel

(7) Sw® H § IS TE

Which level of management would be most involved in supervision ?

(a) Top
(b) Middle
(c) First

(d) None of the above

6. THESH, dired, fésm s freo @
(31) vagd % wE
() YEYH & A
(@) yaeE % gfom
() ST H ¥ g Tal

Planning, organising, directing and controlling are the

(a)  Functions of management
(b)  Goals of management
(c) Results of management

(d) None of the above
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7. N AR WSS AT Sl G HA o TIC A= ARl o |1 F Ik HIEIH
B I hIEhAT! i THTIG Hich 1A HLdl 8, T8 HEAT 8

(a1) frcerh
(¥) wTSTHRdl
(|) veuH
(3) wdE

Someone who works with and through other people by coordinating their

work activities in order to accomplish organisational goals is called
(a)  Director

(b)  Organiser

(c) Manager

(d)  Supervisor

8. M- Aqca A H THRT I higd H IR THATH! HU™ o+ hl TG Bl
27

(31) wiepaeh A

(F)  rieenTien et

(|) Arehditieh St

(3) ety (reeqam) et

Which leadership style tends to centralize authority and make unilateral

decisions ?

(a)  Cultural style
(b)  Autocratic style
(c) Democratic style

(d) Laissez-faire
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290

Hifet % sTg 3 forelt ¥ Targ foe o =g off e fole o o 1 ge T
8, S 3 o @ foh Agwequl § | I8 - Agea el & 2

(a1) Fate (steedem)

(|)  SleeRIiEh
(|) rehartieh
(8) ST H @ g T4l

Monica’s boss allows her to make any decision she thinks is important on

the spot without consulting anyone. Which kind of leadership style is it ?
(a)  Laissez-faire

(b)  Autocratic

(c) Democratic

(d) None of the above

arfiren F=forRaa erehe S o St=dia 3TTar R

(1) e
(@) fEsE
(@) e
(8) SUdh @ H I T

Motivation comes under the following managerial function :
(a)  Directing

(b)  Planning

(c) Controlling

(d) None of the above



11. fF=fataa o @ sH- fTwoft Theory X & Jaue 61 8 2

(1) HHAR M DI T9ES Fd & |

(@) i fadsh 1 ST § |

(@) oftea e e oA =T |

(3) HHER! M I &S ®Y H ALH 1 el o €9 H <@ Tehd 3 |
Which of the following comments is that of a Theory X manager ?
(a)  Employees dislike work.

(b)  Employees will exercise discretion.

(c) The average person will seek responsibility.

(d) Employees can view work as natural as rest or play.

12. F=faRea o @ R s e Yrae i fafy 787 2 2

(31) FITh R TR

(@) Sfoe =E

(@) shfse w1

(3)  werergiten ffer st

Which one of the following is not an online payment mode ?
(a)  Cash on delivery

(b)  Debit Card

(c) Credit Card

(d) Electronic Fund Transfer
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13. T=fRgd # @ SH-AT S-HHE 1 TR ITWFATSAT 1 Th-gil § e HLdl

g7

() B2B
(¥) B2C
(@) C2B
() c2C

Which type of e-commerce focuses on consumers dealing with each

other ?
(a) B2B
(b) B2C
(c) C2B
(d) c2C
14. ¥ ek 3§ S T o F i S B g & Sied #
(1) e
(¥) wHEgHe
(@) foeedm
(8) e
are networks that connect people within a company to each
other.

(a) Intranet
(b) Extranet
(¢) Bitstream

(d) Internet
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wQug 11
SECTION II

59 GUS H g1-31 3Hl & DI I JIct ARG I3 & | 37 @HT J91 & I 5T | 2x12=24

This section contains twelve short answer type questions carrying two marks
each. Answer all the questions.

15.  3T1C3 <hl Uehdl o TUgI=d ohl o1 319 § 2
What is meant by the principle of Unity of Command ?

16. I JeEA & fagreat i gt s918T |

List the principles of Scientific Management.

17. o foveor 71 3 ?
What is Job Analysis ?

18.  3{UATE GRI JeEH 1 & ?
What is Management by Exception ?

19. iAot fagor & o= Tqr-dey #7182

What is the inter-relationship between planning and control ?

20. TR FTR?
What is Planning ?

21. IHU=ETE TeT I feuguft fafigu |

Write a note on Informal Organisation.

22. AN "qcd o A1 BRAG (SAH) @ ?

What are the advantages of democratic leadership ?

23. ‘srfigren’ < gftamr dfs |
Define ‘Motivation’.
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24, BT T AN HT ATETIRAT IHHH G o AR Ure ATTTIRATE T
7
What are the five needs according to Maslow’s needs hierarchy theory of
motivation ?

25. S-foe=e’ wee 9 319 F1 GHAA B ?

What do you understand by the term ‘e-business’ ?

26. FLIHRA TG T 7 ?

What is Computerised Accounting ?

wQug 11
SECTION III

59 UG H diA-dI7 37h] F TR DI I aIct J97 & | @ Fo91 & I A | 3xd=12

This section contains four short answer type questions carrying three marks
each. Answer all the questions.

27. JEYH o TR IR 3Tk B! I g i |

List out the levels of management and their functions.

28. goa o NI & femess fagia =1 awzmsy |

Explain Herzberg’s two-factor theory of motivation.

29, YEY i {IFH AN el a1 T GHST ST B 2

Why is management considered to be both a science and an art ?

30. Hqcd I IRATNG T | 8k AE I 3g@ hHIVT |

Define Leadership. Mention its importance.
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39 @S H Gier-gie 37H] & T Y97 & | 31 991 @ I e |

@vus IV
SECTION 1V

This section contains two questions carrying five marks each. Answer both the
questions.

31.

32.

290

Tl yr < 9=R gaTE = 9uEsy |
rat

YTERITA] TFIS0T =1 BT 2 2 T9TERIel] TS0 o {9 dwal ol 989 H
FATST |

Explain the different types of communication flow.

OR

What is effective communication ? State in brief the essential elements of
effective communication.

TR I Jagehi i fert g fof a8 37 alisl @ & & 1 |
A o fore fgaerl 8 | fewuoft hifsr |

HYAT

HIURE FHING STHETcd 8 Traf-ad Aol =M, 2013 & TEu™l
&g | §amsy |

Social responsibility is the obligation of managers to act in ways that
benefit the interests of society as a whole. Comment.

OR

State in brief the provisions of the Companies Act, 2013 with regard to
Corporate Social Responsibility.

11

5x2=10

250



